Bond Rule 1

Market interest rates and bond prices are inversely related. In other words, as the market interest rate falls (rises), bond prices rise (fall).

What happens if the market interest rates increases to 14% percent?

1. PV = 120/(1+.14)+120/(1+.14)2 + 120/(1.14)3 + 1000/(1.14)3

PV = 105.26
     +      92.31
            +   80.97
+    674.76

PV = 953.70

2. PV = PMT*(PVIFAn.r)     +   FV*(PVIFn,r)

The future value is the par value. The number of payments “n” is 3. The current market interest rate is “r” 4.

PV = 120*(2.322)    + 1000*(.675)

PV = 278.64
       +    675.00

PV = 953.56

3.

FV = 1000

the par value

n = 3


the number of payments

PMT = 120

the amount of the coupon payment (par value * coupon rate)

r = 14


the current market interest rate

PV  =  ?

Plugging these numbers into the calculator

PV = 953.56

Bond Rule 2
Long term bonds are riskier than short-term bonds. Risky can be defined as price sensitive to changes in interest rates.

Two bonds. Bond 1 matures in 5 years, Bond 2 matures in 25 years.

Bond 1



After the 


Price Change






Interest Rate Changes

$
%      .
Face Value

1000

1000





Coupon Rate

8

8


Market Rate

8

12


Maturity

5

5

Price 


1000

890.41



110
11%

Bond 2



After the 


Price Change

           




Interest Rate Changes

$
%      .
Face Value

1000

1000




Coupon Rate

8

8


Market Rate

8

12


Maturity

25

25

Price 


1000

761.57



239
23.9%

Bond Rule 3

The lower the coupon rate the greater the price sensitivity

Two Bonds. Bond 1 has a coupon rate of 0 percent, and Bond 2 has a coupon rate of 12 percent.

Bond 1



After the 


Price Change






Interest Rate Changes

$
%      .
Face Value

1000

1000





Coupon Rate

0

0


Market Rate

8

12


Maturity

30

30

Price 


99.38

33.38



66
66%

Bond 2



After the 


Price Change






Interest Rate Changes

$
%      .
Face Value

1000

1000





Coupon Rate

12

12


Market Rate

8

12


Maturity

30

30

Price 


1558

1000



558
36%

Bond 1 is more sensitive to interest rate changes than Bond 2. The only difference between the two bonds is that Bond 1 is a zero coupon bond, and Bond 2 has a coupon rate of 12 percent.
